


1. | Are] AY F 0o}

{0




1. YE|ALE HES 2
Of = o == o4 e
(B27|5l 6% 8~23%H)




1) =X52] "t (6:8~12)

a. ¥e|ofet= S| Al ol EX|H nFE HetE g
b. &2|Al= 2H0j|A| of& Ll el
T H AL AAE X2 02| €=
c. OI2o| Al H|EH = °a*7|| ot Q50| dE|AtQlo] EEH
“1 ME T ot AIE0| O|2E| 22| F &0|0
OH-IE*OIEF QX o|AgtA MX|Xt A2 A7}
QPOI A0 A StAl S S o|ACtAO| 2o A|
A SELEO|CE (127E)




2) Of2r L7t A2|AFS M| Zo7| 2ol
oS Z2|g (6:13~14)




3) YE|ALS] 7| & Alzte —'.z—OI =
ofLI o] Atof| 7tS st = Tt
= HHE =2(6:18~19)




4) €e|Alo] 7|2
ofZt LHe| =0| {EA| k|0
Atoigjot2 gol =het (6:18~19)




5) AE|ALe] 7|22
Atote|ofof| =%t ofgh o9
=0] €&l (6:20)




6) Ate| BF (6:21~23)

A Al BB 2 L2 ofF ZIYE KIX| %

b, o2 ZCHOI T3t BE B2

c. 50| ol ofzt oA S
d. "of2 FAte] o (AlSHo] of

CtAl = O|22tE o SHX| X

u*.* 0=

£ )7}




2. o= Ll o
Atoig|of ‘4 =2 54

(27|51 6% 248 ~7% 207%)




1) O}Zto| Ajo}j2|o} =L

IJOI SMSIE (6:24~30)

a. Ofgh &£ HLl{io

b. O} & HISI5He
c. 2712 85

-H=7| & Ya

L D2 jihs
d. 6{9I50] X}AIo| OIS S

o0 MHM2 A==

_ e - = T =

7|120] i3

4| Al
=
. o} CF

10

f
5 |l

#3)

6/

—




2) 20| AE| Ao A AfAMS H'H (6:31~33)

a. 2ot 2 MY AAS AC|AO|A =H:
"ArSke| orF Ec|Are] Me| 7t
1 S0 20 A2 StLt=O| LA ZE 2ol
2| AX| 2L (3178)
b. 2| 2= {2 2}S 2ot 0| S:
0| Z{ZO0| = PH 2R E] Lt L]
OX| o o{zotS 7|CIE|E|’” (338)
c. 2ot 2 UL A2 HE|S M1 XS 2.
" AtXtZt O| 27| Hof| A2AE B2 S04 O] 2K
O] &elet Xt ofS0] L MZ| S H|zq o
AtES BUl= AdS ELL'(32%7)




3) d2|Ate] of oia} sF EEo| =4l (7:1~2)
a. 2| ALQ| 0f .
HE20M

“{2PH M O|2A|E| LHY o] 2tifoj AfOfz|o}

12 U7LF st AopeF 132|H)E of M[AZ oo 5t

He| £ A0E of HI""E of of st2| 2f (173)
b. 2to| =20l oF Xato| E
"0=|§9.HHIA1 ol=
HEF oL He
*H—f'-'el M| X}
-Xtalo] EEtn} 7| &

c. @E|Afe] M
“Yi7F Y £ 2 Ha|zt AL 27HE

r-'.I-
0

A= o{x o]z Lo] ALE|R” (27)

U o 2 mi

ujo M 1 o2t r_
> fjo mjo
[e)
>

r

HMI=




4) A= oHe Y| L 2Hx} (7:1~10)

a. 2YH oM BIotN 7| ELH=
Ofo]l e=ot= A0| HACtD T (4~58)

b. OF% TFo| ¥l Ag wA (5%)

c. = M (6~77)

d. {1 OiA |1 23 23 2|58 Fe (8F)

e. ‘OtSCI2 242 Mg EX[7]0# 2

f 2X|7|= 'Ol 2CI2 AA'S 220 L2I(10%)

~x
L
ot

oy N
(o)

a

N’

-




X| (7:11~15)

Kd

@l (127)
Mot (13%)

0/l 7o &0 30
0f0 <4 %0 LY
QO U




6) AHH2| 2 (7:16~20)

=
L

=

o

N

4

s i
K/l N
© i
Y
.’

bl -
NN <
NO Ih
=__=W ol
R =3l
o O

._O._. ol _—AI =y
ul _”__.._ ”\OI_
._lo bt
50 Ol Kr mr
<l T - ZN
D .MO 1l 7
i n o_h
o MNd—=olo

<
= KH

o| 0
=
=

%0 3T 30 o
ST 00 3
S










ojm oju

ﬂ|1 ]
ayny
w"_iwu_

& U-

H




3) FAMAY Bl WE

a. X HE{| ApA:
MAro| OftH L ALE

= H-IRE,AP-I 2L SiLH 2 H =2 Lot
ofLt=! 2220 CHst EMF O = olot Zi}




4) 7|5 2| HfE O|o}

a. 7|82 otLt'Ee| 280 2ot
oiLtE o F=2 O|R0X|&= HY
b. 7| He| slLtEH2 X M S X|7|=

o -
= © s
c. 7| H9| ofLtH 2 =

UZtof|Al & 2 BYH

| -

LT



RIS

ol
NO

F




S i olL'ES "0 &
2. =M Y| E&2 Xpilo] wEh 7=

T BALCt
o
—

PR

3. ofLt'EHe| 7|HS T2 0[OF ofx| 2t
Gl S8¢t A2 XA B74% SYS M2 &2|5t= Aol




